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Rzut piętra 1

HP

HP

Hol+schody
nr1.1

P=83,40 m2

Przedsionek
nr1.2

P=5,13 m2

Magazyn
nr1.3

P=4,91 m2

Magazyn
nr1.4

P=2,45 m2

Umywalnia+WC
nr1.5

P=12,07 m2

Sala przedszkolna
nr1.6

P=81,96 m2

Przedsionek
nr1.7

P=5,17 m2

Sala przedszkolna
nr1.8

P=82,06 m2

Umywalnia+WC
nr1.9

P=12,47 m2

Magazyn
nr1.10

P=2,47 m2

Magazyn
nr1.11

P=4,79 m2

Sala przedszkolna
nr1.12

P=66,33 m2

Magazyn
nr1.13

P=5,20 m2

Magazyn
nr1.14

P=4,98 m2

Magazyn
nr1.15

P=11,00 m2

Pom.rewalidacyjne
nr1.16

P=10,30 m2

WC
nr1.17

P=2,25 m2

Umywalnia+WC
nr1.18

P=13,21 m2

Magazyn
nr1.19

P=2,66 m2

Magazyn
nr1.20

P=2,51 m2

Zmywalnia
nr1.21

P=9,72 m2

Korytarz
nr1.22

P=6,62 m2

Kuchnia
nr1.23

P=31,06 m2

Wydawalnia
nr1.24

P=8,59 m2

Magazyn
nr1.25

P=2,06 m2

Kl.schodowa
nr1.26

P=8,95 m2

Magazyn
nr1.27

P=1,48 m2Magazyn
nr1.28

P=18,23 m2

Przedsionek
nr1.29

P=1,80 m2

WC
nr1.30

P=1,05 m2

Pom.socjalne
nr1.31

P=6,92 m2 Przygotowalnia
nr1.32

P=12,30 m2
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